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.o , 5 .
Recath : the line inteqral of vectoy JCse.{_ol , (LF dr = L Foree)) . v'(t) dits

gz\

A ClL))

Y B'C2i0), %

2. a 2 2 76 2
Jccx,+a yox +(-Y*)dy = JGF'DLY’ M)Lth):=< +9 )’ dy:_(dx).
= [ Fodr + [ Fdr

- 0 IY=/(¢ c+<
For C, |, r.ac)—(:—t)-(o) + 1;-(') (t) , 0StS].
AS FCT.(-t.)):(tL_"tl) = <2t2> , 7'(t)=(' )
£t |
the dr = 2*‘ _ 2
s () (]) = e =3
For Cz, 'fzu;)—(l-t) >+ ( >
= ("’t +
e =

it

'+t> oSt



From Linjing

iy |
A F(mt))z( 4]+ (1-t) ): (2+2t;> ) y'/{;):( )

C(Ht)— (-8 4t -]
| 2

" CzF J ( ot = O(Zt—l)-t-l'l)o% =3
o\ 4t ~I

2 a 4
ence, ( = = +5 = =
H N=3 I =3 .4

Method 2 . doirg o6 in component jorm dlirectly .
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Method 3. Green'S Theorem . \‘ﬁ*F'dY= \l!;f(ax'f’y)dﬁ
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